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(K% - &%) |REFES| REAE |REFEE| BEEHR |smaoss
3 |=Z=w|EeFun %  ha| 0.6 hal/kfE ha] 06 ha| 1
3 | =R |rFun| B2 KRG hal 1.0 ha|X&%§ hal 1.0 ha| 2
3 |E2A|LTuR| RBE kg ha| 0.5 ha|k#g haj 05 ha| 3
3 | =R | TR KA ha| 0.7 ha|Kk#g hal| 0.7 ha| 4
3 | E2A| LT K ha 3.7 hal|/Kk#g ha 3.7 ha 5
3 | =2 | BT KA ha| 1.8 halkf& hal 18 ha| 6
3 | =2l | e Fwm| BEk A% -5% hal 93.3 hal|xE-#% ha| 93.3 ha 7
3 | =@ | BT 7K FE hal = 1.7 ha|Xk#g ha 1.7 ha 8
3 | =R | BT ¥  hal 3.0 ha|kfg@ ha] 3.0 ha] 9
3 | EEA(LTLR IKFE ha 1.7 ha|K#g ha 1.7 hal 10
3 |=Z2R|ETun| 2 IKFG ha 0.0 ha|Xk#g ha 0.0 hal 11
3 | =2l | T e k#&  ha| 29 halZkfg  ha| 29 hal 12
3 | =R | LTWA 7KFE ha 1.4 ha|k#g ha 1.4 hal 13
3 |EER| B ha| 0.0 hal/kfg§  ha| 43.0 hal 1
3 | BEA| N\H 7k FE ha 0.0 hal|Ak#g ha 0.0 ha 1
3 |=#Ex| AHE K- xZ  ha 0.0 halx#®-x= bha 0.0 ha 2
3 | E2A| \H IKFE ha 0.0 hal|Ak#g ha 0.0 ha 3
3 |EEA| N\E IKFE hal 0.8 ha|k#g haf 08 ha|l 4
3 |=Z2n| AHE Ik HE ha 0.0 hal|K#H ha 0.0 ha 5
3 |EEA| N\E /&f§  hal 23 halkfg8 haj 23 ha| 6
3 |Z2R| \HE /&F  hal 0.0 ha|Kk#F hal 00 ha|l 7
3 |=Z=2R!| AW bi&is ha| 0.0 ha|K#g hal 0.0 ha| 8
3 |EEA| \H 7Kg ha| 0.3 ha|X#§ ha| 0.3 hal 9
3 |EEA| N\HA IKFG ha| 0.0 ha|k#  ha] 0.0 ha| 10
3 | EFEAN| N\H k¥  hal 0.0 ha|Xkfg ha] 00 ha| 11
3 | EFEA| N\H k¥  hal 1.3 ha|lkfE  ha] 13 ha| 12
3 |EEAN| N\H k¥ hal 1.1 halkfiE  ha|] 11 ha| 13
3 |EEA| N\H KT ha| 0.2 ha|Kk#E hal 0.2 ha|l 14
3 |EEA| N\H | BB /KA ha| 05 ha|X#§ hal 05 ha| 15
3 |EEZA| N\HE | BB 7K FE ha| 0.7 ha|X7%& hal 0.7 ha| 16
3 |EEAl NA|H 7k #E ha 0.8 halK#E ha 0.8 ha| 17
3 |EEAN| N\H 7KAE ha 1.8 ha|/Kk¥E ha 1.8 ha| 18
3 |B2EA| N\E #E  ha| 1.6 ha|’kfiE ha| 1.6 hal 19
3 | EEA| N\H 7K Fig ha| 1.8 hal|X#E ha| 1.8 ha| 20
3 |z=gN|aaET| Re XHg  ha 0.0 hal/Kk#a ha 0.0 ha 1
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(K% - &%) |REAFES| REERE [REFEZE| BREEE |smmioss
3 | ERN|EEET 7KHR ha 0.0 ha|7k¥B ha 0.0 ha 2
3 | EEA|(REET &kf8  hal 0.0 halk#E  ha|] 0.0 hal 3
3 | BREAN|AEET 7KHB ha 3.9 ha|Kk#E ha 3.9 ha 4
3 | BEA|AEET 7kFg  hal| 1.2 halkf8  ha] 12 hal 5
3 | BEAN|EET 7KTB ha 1.2 hal|/K#g ha 1.2 ha 6
3 | BEA|AEET| RE K -x= ha| 3.7 hald®-x= ha| 3.7 ha| 7
3 |EEAN|eEET| RE KHE hal 1.5 ha|k#g ha| 15 ha| 8
3 | BN |EHET 7KHE ha 1.8 hal|k#g ha 1.8 ha 9
3 | BEA|AEET 7KAE ha| 2.1 ha|X#g ha| 2.1 ha| 10
3 |BEA B2 7Kg ha| 3.0 ha|X#g hal 3.0 ha| 1
3 |BEA B2 KT ha| 5.8 hal|X#§ ha|] 58 ha| 2
3 | BEA| B2 7Kg hal 2.9 ha|XKH hal| 29 ha| 3
3 |E2A| B2 7K ha| 2.2 ha|K#H ha|l 2.2 ha| 4
3 |EEA| B2 7K G hal 1.4 ha|X#E ha| 1.4 ha| 5
3 |EEA| BT | RE 7Kg ha| 0.6 halK#E hal] 0.6 ha| 6
3 |E2A| B | RE k%  ha| 0.5 ha|kfiE  ha] 05 ha| 7
3 |BEA| B fg  hal 0.0 ha|’kfE ha] 0.0 ha| 8
3 | BEA| &S ¥  hal 15 ha|’k#E  hal] 15 ha| 1
3 | BEA| RS | RE- 7K hal 0.1 ha|&#§ ha| 0.1 ha|l 2
3 | BEA| BE | RE 7KHG ha| 3.0 ha|X#§ ha| 3.0 ha|l 3
3 | BEA| RS | RE 7Kg ha| 3.2 ha|k#§ ha| 3.2 ha| 4
3 |EEAN| BE | RE /¥  hal 0.6 ha|kfg ha|l 06 ha| 5
3 | BEA| k& 7k F& hal 0.0 ha|K#g hal 00 ha|l 6
3 | ERN| %5 |REE K%  hal 0.7 ha|lk#E  hal 07 ha| 7
3 |BEA| FE 7K FE ha| 4.0 ha|/k¥g ha| 4.0 hal 8
3 |BERN| &F RE ¥ -4 ha 0.6 ha|X#E -7 ha 0.6 ha 1
3 |BEA| 5F | RE 7K HE ha| 1.0 ha|KkFg hal 1.0 ha| 2
3 |BEA| 5T Kfg  hal 0.6 ha|KkFg ha| 06 hal 3
3 |EEAN| &F Af&  hal 1.6 ha|kFg ha| 1.6 ha| 4
3 |BEA| 5T | RE 7KFE ha| 0.8 ha|kfg ha| 0.8 ha| 5
3 |BEAl &F | RE 7k F& ha| 1.9 ha{/K#g hal 1.9 ha| 6
3 | BEA| &F 7K HE ha| 2.0 ha|/k#g ha| 2.0 ha| 7
3 |EEAN &F k%  hal 05 ha|lkfiE  ha|l 05 ha| 8
3 |EEAl & ViG] haf 0.9 halkfid  hal 09 hal 9
3 |BEA| &T k%E  ha| 0.6 ha|kfE  ha| 06 ha| 10
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(K% - &%) |BREFEE| REARE |REFES| BREEE |smmroas
3 |E2EA| BT | RE &FE  ha| 4.6 ha|kfE  ha| 4.6 hal 11
3 |=Z2R| B kf&  hal 0.2 ha|Zk#fE  ha| 0.2 ha| 12
3 |EEAN| &F | BB kfE  hal 4.3 ha|ZkfE  hal 4.3 ha| 13
3 =il e KT8 ha 0.2 hal|K#g ha 0.2 ha 1
3 [EZEA| IKFB ha 2.6 ha|/K#g ha 2.6 ha 2
3 [E2A] &R | BE Kf&  hal 29 halkf§  hal 29 ha| 3
3 [=Em| AN | Re kFg  hal 1.2 hajZk#8 ha] 12 ha| 4
3 |EEA| A Kk#E  hal 0.4 halkig  hal 04 hal 1
3 |EEA| kO A&  hal 27 ha|k#E hal 27 hal 2
3 |EEA| kO | FBEE k#&  hal 25 ha|kfg  hal 25 ha] 3
3 |==2R| o | =2 7K HE hal 3.3 ha|Kk#g hal 3.3 ha| 4
3 (== k0 | RE #%  ha| 0.4 halkfE  ha] 04 ha| 5
2R B 206.3 ha 249.3 ha




